Ace. PreCalculus Ch. 3 Review
NO CALCULATOR

1. Identify the x- and y-intercepts and the sketch the graph of the following

Name:

Period

¥{x-4Yx+1y

A pr)=—(x-1" B) p(x)=x~16x x(XNdy o) oy 3 302 00
daﬂ: 4 4ei - bithi dcj.-j Le: t+ it I 3 e: t rk4 lebH

p labwned) o X044 Y0 ¥=0,-14 §=0
g L SEEERanS Eaan
/ £ 2

ijm 74E1E] B ]

5 7

\ 5 Wi Il} | u JE" f i

2, Write the equation into vertex form and identify the vertex.

A) p(x)=2x*-8x-9
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2. Find the max/min point and state if it is a max or min.
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3. Find the remainder and state whether the divisor is a factor.
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A)List all possible rational zeros (without testing to see if they actually are zeros). B) Determine the possible.
number of positive and negative real zeros using Descartes’ Rule of Signs.
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6.Finda ?olyn %r[ual o%iegree3w1th zeros -1, 2 and 0.
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7. Find a polynomial of degree 4 having zeros 3i and 4, with 4 being a double root.
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Find all the rational zeros. Sketch the h A A | :
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Find all the real zeros. |
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10. P(x)=3x° +5x*-2x-4 11. P(x) = 3x —5x*-8x-2
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Find all zeros.
14. P{x)= 2%’ —8x* +9x-9

| 12.P(x) =x* +25x 13. P(x)=3x°—48x 14.
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15 The profit P (in dollars) generated by selling x units of a certain commodity is given by the function
P(x)=-1500+12x—-0.004x* What is the maximum profit, and how many units must be sold to generate it?
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16. Graph each rational function.
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tate all x and y intercepts and any asymptotes. (Horz, Vert, and Slant)
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A) Which of these rational functions has a horizontal asymptote? r 4+
B) Which of these functions has a slant asymptote? S

C) Which of these functions has no vertical asymptote? S
D) List all asymptotes for u(x) (Vertical, Horz, and slant)
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